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]\? ' Question Answer Options
o.
UHAE YOTell # SR AT UH IORS | A, wFERE & CO-F $ ol ¥
I ERED reduces CO content of exhaust
A catalytic converter fitted to exhaust system | B. ¥R & &F Tl §
| reduces noise ‘
' C. 39+ &THaT S GURAT gimproves fuel
efficiency
D. 3WFd # &S AT
| none of the above
[CESTeT T TGS TareT gl A, I 9TH @ &R
Connecting rod of an IC engine has I or H section shape
2 B. Z@vs /7 section
C. ATAHI /rectangular
| D. geamhR feircular
TS0 & sEg e @ RE F ffmm & AL 0.112,0.017
HFAI HivsT fhar S B 3{seieg gor TR g' 8'333%%2105
(GHer) @ D. 0.119,0.020
External diameters of a pin arc measured as
shown in Figure. The ovality and Taper are
...... (respectively)
3' » F 3 F: %
B1
=100.008
B2 =100.100
B3 =
\ 4 y 4 100,118
AIS100.116  A2=100,101  A3=100.115
U T $ To ¥ GoOAN F A A. TEcAIFNUT §9 HdTacceleration due to
A B §1 gravity
4. Ratio of weight to mass of an object equals B. ®EeIar /density
C. 1 .
D. fafafése asrer /Specific weight
gifaer fsar g A, &I /Cutting
Honing is a process of B. afegor /Welding
5. C. fafessr Milling
D. &R f%fafeer /Bore finishing
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its acceleration will be equal fo

No. | o Question i N Answer _01131:1(.)113
Uh o A wdew uE dw Rwed & | A IEfoae . e /Gudgeon pin
= FT 39T fRar Srar B B. frer =1 /king pin

0. In an engine......... is used between ! C. s fd /Crank pin
Connecting rod and Piston. D. AT e Normal pin
LAMBDA #dg, MPFI womelr # & | A.NOx

' LAMBDA sensor detects...... in MPFI | 0 s
D. CO
system. '
AT SRRT & SO0 §AT, Rrarad | A Rewride e wigdreinforcement
& 39T T sar § steel chords
g In making automobile Tires , following is | B. ¥&5 /Rubber
' used C. #Arsdi Nylon
D. 3Wied @l g
All the above materials
TF U F I3 A @ U REE @ IR ST | AL 3R 6 e
¥ 3EF 9 F__ IATEa TR e a vertical straight line

9. T B ' B. r&Eifers /parabolic
A parcel is dropped from a flying aero plane. | - JeHR feircular
Its path can be approximated as D. TS ST /zigzag
feaaTafes Jd tén(45) T HedT § A 172

10. Value of trigonometric ratio tan (45) equals ]éj (1)

D. 1/4
1000 frai. goietarelr UF FX ST 1808Ss # | A, 1000Sa /1000Joules
T @ § F Al Foft § A B. 500sfte /500Joules.
1. Kinetic energy of car mass of 1000 kg| . 1siter /1Joule ‘
moving at 1 m/sec s D. wfy w¥s F 1000 fs.ar. #1000 kg m
per sec '
S o i e S & PRrr ondr § A-9.81m'/322
g, | T 3EH H el o 211;22
' When a ball is dropped from a certain height |

1 m/s?
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I\%. Question Answer Options
T WA (Y T @2, 1000 Rl g ¥ | A. 250 Brar. /Ke ’
F % 4 T X W@ B Sl a@ H ) B 1000 B Kg
T & C. 500 fham /Kg
13. Sum fotal of vertical Reaction Forces at 4 | D. 10 &3 /Kg
tyres of a car standing on flat road weighing
1000 kg is
AT Ae A U QA WU F IRt @ A e ove @ YO UHAE g e 3N
Fl ' power transfer from main shaft to rear
A differential assembly in a motor vehicle axle :
allows B. s 9T grIX Tl & e rpm
81 &ar &
14 allows different rpm of left and right :
wheels :
C. ST 97 &R Ul & TH rpm & g
. gar g
allows equal rpm of left and right wheels
D. 3wied g7 &7 g gar §1
- allows all of the above
ﬁwmﬁmmﬁwﬁmm%‘ A. 3TF O 3WF BT &
df ST VT F 3RTEN | its diameter increases
If a metallic Bolt is pulled in tension then | B. 38 <T@ &H giar &
15, according to Poisson effect its Diameter decreases .
C. =arq & g IRade =g
no change in diameter
D. $& Samr gl &1 d@adr
unpredictable
ﬂumﬁa%ﬁmﬂaﬁw@a#am%‘.m A. FH gIar & /Reduces
BT g B. #§&dr § /Increases
16. At lower gears of the gearbox, Torque | C. sgamd =18 / Remains same
increases and speed D. =t waftg a8 &
The two are not related
TH & TN HeT qUT FET 6T F 9T F | A, heex /Caster
FUTH ___ Fgd E B.. TR [Steering angle
17. Angle between steering axis and the vertical | C. @ & /Toe in
axis of the wheel is called D. 2 313 /Toe out
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No. Question ) . Answer Options
5§ TF 0.5 Hed 795 & aaw 60 B wior | A 7w
# ol g & s Aw s w| O 2%
18. T ¥ geare 7 "o D. x /6
When a 0.5 meter long wiper sweeps an '
angle of 60 degrees The tip moves circularly
by adistance of ...... meter
4-TEI® Faldl # FIA AFC A, HIHAE AT | A. &I /double
& gl B. 3mur /Half
19. In a 4 —stroke IC engine cam shaft speed is| C. fomar or alﬁa'r
B the crankshaft speed can be any multiple
D. A= fequal
TFHIET H 3T Flad AAFNS F o @ FT | A T ST THar
Tl | Low fuel efficiency
"A high Carbon Monoxide content in the | B. RwrEa vadiee
20. exhaust means Toxic exhaust
C. 3oy ggw
Incomplete combustion
D. 393&Fd T / all of the above
Wﬁ?%ﬁﬁtﬁmﬁ@mo.S A 25N
NIFYEeteT 31 i der der sfah A g | ool
21, | T A EEEEm D. ¥ /Zero
A brake pedal return spring has a stiffness of
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be
frega dad aog & # 39 A | AL IC 59 ¢ RN |
JET starter of IC engine
59, Principle of electro magnetism is employed | B. ¥HRLT /thermostat
in C. AT /muffler
D. 3e0Re afiad®
catalytic converter
g & BHP #7 ¥ #nfag fmar smar | A, @ 39 /Torque wrench
2l | B. s /Dynamometer
23. BHP of an engine is measured b C. erniAe /Tachometer
D. 31gEeT /Odometer

Page 5of 14 -




TE 09(Motor Vehicle Mechanic): Series — D

I\% . Question Answer Options
Rees dgw ¥ v JeeraR & A. a1 e THeOT & T8 e e &
Piston heads are dome shaped HEE T
To help proper mixing of air fule
: mixture
24. B. 3cUies &I el dAT)
Ease of manufacturing
C. defe /Balancing
D. F®weiee 3, & T
_ to increase crankshaft speed
geol (e & A &1 3T A. 3fed /Frequency .
Hertz ( symbol Hz) is unit for measuring B. a1 /Speed
25 ' C. T /Acceleration
D. #FesT /Retardation
ww & G F dwem & drg o AT e | A SR s sTRier A8 BT s aer
& for Gears can be not used
To transmit power between shafts in the same | B." sofe @ Qiee &I 3u=eT f&ar o1 wehar &
%. direction Belt & pulley can be used
C. o7 BT & 3TN o5 Sashar &
Chain sprocket can be used
D. 3w#a |l TEr gl
All of the above are correct statements.
IC gofef &, RIFest o &% IOt 3t e | A, Rvest @7 usharar shaas g
% g g Average force pushing the Piston
27 Area of pi‘ston 'multiplied by mean pressure in ;| B- 3T Ufager /Avearge stress
' an IC engine equals C. 3irad e /Average torque
D. HIFFRATFT HRpm
, Rpm of crankshafi
Sl _ ¥ wofewor forar ST & A. T4 T [Spark plug
‘ Fuel is atomized in B. wamMex /Evaporator
28. C. |7’ /Muffler
D. saieex / Injector
LWE e _ @ g e § A 005
s |l
29| Shaft Diais 50 +0.050/+0.035 and Hole | § 9005
diameter is 50 +0.050/+0.045. ‘
The maximum clearance is
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I\?(;. | Question | Answer Options
TR WY, T § aee@s gar gl A. TSITEY felastic
Tyre Rubber is much more ....than Steel B. @ /ductile
30. C. smaraaed /malleable
D. 3% g« /stronger
FE qlieror # Uty & AT o9 ufed gder | A oS W W F g
= Fef@d far Sar § 99 geiees Slope of the initial straight line
AT & TR ¥ B. sifaer afer witeer
When stress is plotted versus strain for a metal Final breaking stress
3L in tension test, Elastic modulus equals the C. #fam dfrer a=
Final breaking strain
D. sfder wfdeer & af F 30
Ratio of breaking stress to strain
fafdst o & & a=mar o ¢ A. FiEe dgr a1 rgfafaas fAsuag
Cylinder head is made of Cast Iron or Aluminum Alloy
32. B. @fsr /copper
C. diger /Brass
D. si@r /Bronze
ANl ATl L W &= TR § A. e Aol B e ar sefafe
Connecting rod is made of High grade Alloy Steel or Aluminum
B. "faa g /Cast iron
331 C. & Bronze
D. arse=T Nylon
o4 UF Ui & e FT FgHEET S § AT | A, THRAT A WHTAT S gar
HAdS AT ST (de&y) Does not stretch or contract
14, When a s.heet of metal is bent, the middle | B. @ giar /Contracts
plane or line (neutral) C. YHRAr /Stretches
D. & @l T4 S GahdUnpredictable
U & FROT Sees WY A R @ Vel | A, TERT @R /Spring washer
g ARy & gAWT fhar e ¢ B. & @ /standard washer
35. To prevent loosening in a bolted joint due to | C. 2ws /Tapered
vibration......... washers are used D. ¥ /Thick
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force

Q. . .
No. Question Answer Options
| uor B Ferw wT @ ITReT T omET | AL RRUT A R afFw
&l ‘_ Constant mesh gear box
Friction cone clutch is used in B. Rslaer /Synchromesh
36, C. So-oligel TS aled
' " In-line sliding gear box
D. 3UUFd # Hl5 AT
None of the above
VVT HOPURA & T afew fear A Bhp
T : B. s & Tadaed #AKm
37 VVT is introduced to improve Km per liter of fuel
‘ C. 3 FH FIT &
reduce emissions
. D. 3uiea gafr /all of the above
TS [ATelsY S5 & ot & 3Idea—80 cc | A. 80+90
aw Famd WEEH-10 cc 3EH GRS }é' ég jSSOO
g | TITEE D. 90+ 10
' For a single cylinder engine swept volume=80
cc and clearance volume =10 cc. Then its
compression ratio is
ABS &% & fav & AT T IEIHRAT | A. TF YU /Wheel rotation
gl ' B. @& /Torque
39. ABS function requires measurement of C. a9aAe /Temperature
D. &aT /Camber
A gelT, ure & T H @ g7 deg H | A H
TN #H T I 3earesT Ha gl B.V 2t fboth
For the shaft shown which force produces < VatH _ Ot_ Vand H
- torque about the center v, v ey D. 2¥t of =187 /Neither
force
40.
H, Horizontal
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No. | . ;—-‘_.:Quesnon B o Answer OPhons
AT W RO BFr v wR A o #= A. ¥ do%, diet &, sifaer o, T
sfacdifEer & for wer afder dedy & VR, Ford fEerel, s
The correct checking sequence for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. gota &t fTufa, daesd aurar, do%

TR, MR SiFE HEd
Engine condition, coolant quality, self
41. starter, gear box oil '
C. o & FoUe 9, TR Hr Fufd,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dog, dicX &, 98, vearaiad
Fan belt, water leak, battery, Alternator.
das R om & @ agw § o T gl W A.2emz"2/360
s A g ¥ e R & ol % | B 2 0
. " C. emr=/360
49. &RoT [93eles W Fof Tdg SAF & D. 26 mnr?
There are two wipers of length R cm which do
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is .
ICEsT & saelc dled & 15, faid aled & | A, Bier /Smaller
e d B. ¥8T /Bigger
43. ‘In an IC engine Size of an inlet valve | C. Igr /Identical
5. compared to exhaust valve D. 3uEd § A5 7
None of the above
ICEe= % fafdet 85 #r ¥ fow F=a | A. FvAT VT Hag &7 dem
Iuerstr T T §)  Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cdied R I Tl
44. with fins for ease of manufacturing

et /fashion
D. FIdA ST
increasing volume

e
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Answer Options

I\% Question
PR 9T G AT NS W YA 9= § A UF & | A, T & fis same
@ w3 9 aES @ O IR, o a9 | B g § e oler g1
& gHIEG F gram| pull is smaller than push
The effect of force, F, on a car when you push | C. 9o q q=r BIET BT
45 from back or pull from front at points on a push is smaller than pull
' same line (see Figure) _ D. %& adr 7@ HedUnpredictable
PUSH, PULL, F
e W s— i — = L
@ (6]
T 22’ & T F AN P A el Aoa 2
U geat ol FOT ARy fwT mr @ geq @ | B @
: N “ C. 2a
46. | BEEwE D. a
A circle is drawn touching four corners of a
square of side ‘2a’, then the radius of the
circle is
y = x2 & FHEHEIOT § A. ged [Circle
y =x* is equation of | B. &er @ /Straight line
41. C. WRr&rer /Parabola
D. degeare /Ellipse
SIaT SForel H ITAETRAT ST A. B I T
Dog clutch is used in Constant mesh gear box
B. T&®#e /Synchromesh
48. C. 3talig /Differential
D. 3WiFd H &5 Adl
None of the above.
IaREd-T 19 g § g Faar gl | A o argehal /Diesel cycle
Combustion  occurs at constant pressure | B. 3fiey Hgwe /Otto cycle
e C. R ofr yAfsrgAiF Fsad
- 49, .
Any thermodynamic cycle
D. 3T H 315 Al
None of the above.
(H&dl & G 3iehat & @72) BHP & A. 2aNT/4500
(With usual notation of symbols) BHP equals B. aNT /4500
50. C. 2aN/4500
D. 2aT/4500
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No. ) Questlronr 7 Answer Opt}clms
(Gt ¥ T ste & @) THP § A. PuLAN K /4500
(With usual notation of symbols) IHP equals B. LAN K /4500
51. C. PnLN K /4500
D. PnLA K /4500
0.001 @ 0.00001 & Fsrford =t & A. 1000000
3 B. 1
52, . C. 100
0.001 divided by 0.00001 equals ...... D 10
_ ~b+vb?-—4ac A ax®*+bx+ c¢c=0
x= =2 & e Rae ait gl B st
2 p2 2
53 L p— C. a*+b“=xc
‘ X = bi:;—ﬂare the two real roots of ........ D. a? + xb? = xc?
R T AT guld & A o | A R Awe frear left
ST £l B. e o9 /front left
54, The stepneytyre generally goes to the place | C. we Uge /front right
of..... during rotation D. WX ST TET /rear right tyre
it e &) 1000 fram. & v @ | A, 200kg
W, oq & ad g @ MR & W ww| D 10008
gresioer foge & fBve frar s &1 Rt D‘.Skgg
aF Al =A T A2=3A B e fw &
AR, FR A AU & & fow e P
9 HEGWTH aof &
Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are A1 =A
and A2=5A. DBy Pascal’s law, the force
535. required at the smaller piston to support the

car is

Weight = 1000 kg

i Area A2=15A

Area
Al=A
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Q. . .
No. | Question Answer Options
a1 wfaeadr ¢st @ Sey & faw Iager o | A @rdfaF F@® /Universal joint
e ‘ ' B. #&Her €Y /Knuckle joint
56. To connect two intersecting shafts the Joint | C. e=-wg &R /Tie -rod joint
used is. .o D. arer ey /Ball Joint
Fog TaUs O Fod FRORD § d9 FoOT | A, Tl goe I
fremsr, fadw w7 @ et & At starting engine
Clutch slippage while clutch is engaged is | B. S/9 §ad#Id Usel &I 94 fohar amr /
particularly noticeable When accelerator pedal is pressed
57. C. afFT & =
During braking
D. &A 337 # /At low speed
58, | st aped % o WA & RS 5| A XAy =0
faeae, & FEET ¥ g- L
Equation to intersection of a cylinder with a D' Y:}Szf
plane perpendicular to its longitudinal axis is '
59. &l | Jedd & TR & I B A A9 =TH O 4 T[T
Ratio of Area to Circumference of a circle is 4 times its Diameter
’ B.no
- C. TUTH & U& 9 Her
one fourth of Diameter
D. =918 /Diameter
60. ¢ ¥ TE F FR UK Widd F HER | A Reriew Parabolic
TOTH=I: & B. @@®R /square
Shape of reflectors around head lamp bulb is | C. SR /foylindrical
generally D. /@ /conical
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